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SUBJECT: ENGLISH     Full Marks: 20 
1) Read the passage and answer the following questions: 

 Suddenly the train stopped with a jerk. He was brought back to the present. Some policemen were 

walking down the platform. They were coming towards his compartment, “Stay where you are, and don‟t move. 

We will search everyone,” they announced. He realized at once that he had to escape. Quickly he found a 

window with a broken grill. He heasited for a moment. Then he jumped out of the window. He fell on a bush. 

He got up and started running. The ground was uneven and he stumbled. But he continued to run. Swadesh had 

a long way to go. 

A) Write „T‟ for true and „F‟ for false statements in the boxes:      (2) 

 a) Some public were walking down the platform.  

 b) He stumbled because the ground was uneven.  

B) Answer the following question:          (2) 

 a) How did Swadesh escape from the train compartment? 

 b) What did the policemen announced?  

C) Arrange the following sentences in the correct order. Put the number in the given boxes:  (2) 

 a) Then he jumped out of the window. (     ) 

 b) He realize at once that he had to escape. (     ) 

 c) The policemen were coming towards Swadesh Compartment. (    ) 

d) He fell on a bush. (      ) 

2) Re-arrange the letters to form meaningful words:       (2) 

a) PPOONNTSE  :  b) YIOCRVT  : 

3) Match column-A with Column-B:         (2) 

 A  B 

i) Bikash holds Ruma‟s hand a) Is done in English 

ii) The great newa was that b) Sarees and sweets for Ruma and mother. 

iii) In Bengal a lot of office work c) And approaches near mother. 

iv) Bikash brought d) Bikash was a postal service employee. 

4) Circle the adverbs in the following sentences:      (2) 

a) Why are you laughing?  b) The soldiers fought bravely. 

5) Change the gender: a) Peacock :     b) Ox : (2) 

6) Fill in the blanks with correct preposition:       (4) 



a) Farmer leads _________________ very simple life. 

b) My grandmother reads ____________________ Ramayana every day. 

c) Subhra lives ______________________ her parents. 

d) The river flows ____________________ the bridge.  

7) Translet the following Bengali sentences to English:     (2) 

a) আ ম স          য়         য়        ।  d) আ ম                   য়    ম। 
9) Write few lines about “COW”. OR Write few lines about “ENVIRONMENTAL POLLUTION”. (5)  

   য় : স              

       স    য়      ময়        ম   ? 
 ম        ম                    ম        ? 
    ম   ম            ? 
           ম      ম          স         ? 
                                  য়? 
   ম      য়                        ম   ? 
    ম     স    য়                 ম   ? 

   ম                     ম   ? 
                 ম                   য়    ? 
               ? 
 স  ম                  ? 
              স            ম    ? 
                 ? 
   য়            আম                        ? 

   য়:      
1) সম       :          (1 x 5 = 5) 

i.    ম                     ? 
ii.                 স      য়  ? 
iii. ৩৫      ৪৫    ম               স     আ  ? 
iv.                              স                   আ  ? 
v. স    য়     ম  ম     স       ? 

2) সম       :          (2 x 5 = 10) 

i. ৫     ৪৫  ম    ১৬  স    =     স   ? 
ii.        য়      ও      ? 
iii. ১৮ ও ৩০    স          য়      য়   ? 
iv. ৫+০.৫+০.০৫+০.০০৫ = ? 
v.           ২৭৫      আ  .  স             স    -       ৬০           ,            ৫০                    

          ৪৫                      ।                       আ  ?  

3) সম       :          (2 x 5 = 10) 

i. আম   ও   ২৫      ৩৫০   ম, আম         ও   ৩৪      ৫০০   ম। আম              ও          ? (    
    ও) 

ii.               ম স      স    য়           ম স                              স        ? (        ও) 
iii.                         ৩০  সম  ও    ২০  স ম।              স ম      য়   ।  
iv. স      : (২০+৮) ÷ ৪ - ২ 
v.  ম                      :  ৫৪৮১ ÷ ৬৩ = ? 


